SAMPLE QUESTIONS FISO

1) If 2* = 4 is given, work out & + 327
4 ' 64

v g sy &
ﬁD%z _4/I:l Eﬁ‘ﬁ4+64

A) 48 B) 64
0) 33 D) 32

2) Solve this equationfi# i (& 2

1 5 B 2
x+1 x—-1 x%2-1

A) -2 B) 1
03 D) 2,5

2) How many elements of the set
{1,2,3,.....,61} divisibleby 4 or7?
£E(L23,.......,61} FHEZDITEAL
e 4 207 R ?

A) 14 B) 21
C) 22 D) 30

3) Assuminga # 5,b # 6, and ¢ # 7, what
is the value in the simplest form of the
following expression?

{Ete%a#b » b26flc#7 » DL REZAXAVER G
BEANERZ /D ?

a—3 b—6 c—7

7—c 3—a 6-b

A1l B) &
60
O-1 D) a
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5) The sum of the digits of n is written

S(n). For example
S(7)=7and S(2024) =2+0+2+4=8

n B8 2 MIEC & S(n) = 40
S(7)=7 #1S(2024)=2+0+2+4=8

This notation can be written multiple

times for example
S(5(59))=S(5+9)=S(14)=1+4=5

Which of the following has S((n)) = 9

Bian - EEASE ] AR SR

S(S(59))=S(5+9)=S(14)=1+4=5

NHITRIERT S((n)=9

A) 1534
C) 1898

B) 1857
D) 1962

6) What is the 202374 letter in this
sequence?

BT 5520237 (H B8 7
AMCEFCMAAMCEFCMAAMCEFCMAA
MCEFCMA ......

A) A B) E
OC D) M

7) Solve>Kfi#: 43— 32+ 53+ 82=?

A) 244
C) 458

B) 444
D) 284
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8) What is the value of {H/&%/)
9,000,000 — 900,000 + 9,000 — 900 + 90 ~9 =2

A) 8108181 B) 8181081
C) 818181 D) 8181810
9) Findf&H V2 xa="?
1+%
AT
l+a+—4—=4
a
A)1 B) V2
C) V3 D)2

10) Find the value of y +z - x=?
Ky+z-x=?

xy=z+4)
zx=y+6;
z=5-y |
A)4 B) 0,5
03 D)2
11) SolvesRf#:

log612:x = log12 24 =7

2x -1
2x—1 x—2
C) X D) X
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12) Find the value of A x B =?

k AxB=2
3 3
A:—l’ B:l—
3+= —4
7
A) 42 B) 52
C) 63 D) 66

13) Simplify: f§{L :
a’b-3a’>-3a+ab—-2b+6 . 1
ab® +2b* —10b—5ab+6a+12 b-=2

=2

a—1 a
A) b-2 B) b—2

b
C)b+2 D) a
14) Find the value of 32 =7

) Find the value o \/E_'
el 9
A5 [ 1 V405

3 9 27

mV3-3 B 13
0 V3-1 D) 2v3
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15) Find the value of 2x +y — 2z =?
K 2x+y-2z=?

xX+2y+3z=7
x+3y=5 ¢
3y+4z=17
A)4 B) 0
Q)3 D)6

16) Simplify: f&{L :

COS X
—— +tanx =7
l+sinx
A) COS X B) cotx
|
o) SInx D) COS X

17) Find the value of A+B+C+D=?
% A+B+C+D=J{H

ABC s BD

+ BsD _ACB
8D o BBo

A) 16 B) 17

C) 18 D) 20

18) What is the next number?
T—EgFESZD?
2: 5, 10, Y126, 3w

A) 45 B) 50
©) 53 D) 49
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19) ABCDE is a regular pentagon,
ABCDEZIEFLE

[EC|=|AF

m(AFC) = 68°

m(BCF) = x = ?
A) 30 B) 32
C) 40 D) 36

20) Solve: >R f#:

2 3 15 -1
(ﬁ_1+\/§_2+3_\/§)-(2x/§+10) =?
A) 4 B) 1
0- D),

21) Find the missing number.

AnswerZZ:
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22) Find the greatest value of x.

Hx B AE -
2 2
x+3 x-1
[ ] +12= 54[_]
x-1 x+3
AnswerZ Z£:
23) Solve: 3K fiZ:
>< + a'g + 2= :33
a2 4 C—; + C.C =17
<3 + B2 + (@) =13
= X C-C; + ,.'g = 2
AnswerZ XE:
24) Evaluate3Kf#:

2(1+1)+3(1+1)+4(1+1)+ +20(1+ 1)—7
2 3 4 20/

AnswerZ ZE:
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25) Let d and e denote the solution of

4x?% 4+ 15x — 4 = 0. What is the value of
4(d-1)(e—1) =?

Bt dfle®E T 4x2 +15x —4 =0
4d-1)(e—1) =2EZEZ/D?

"/

AnswerZ Z£:




